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e Code number given on the right hand side of the question paper should be
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= 9 :
(i) TWITEATITN T e - 5 @ a7
(i) 9 % g B ¥ o aE @
(i) IR F1 9T 9T @ 3N T H § HF UF YT 5T FT B
(iv) [d 537 & T 97 & I 0% & @ W fAEw |

General Instructions :

(i)  This question paper contains three parts A, B and C.
(i1) Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts
B and C. '

(i iv ) All parts of the questions should be attempted at one place.

T %
(SreTvETl W, WEEl wul agn swi & e se)
PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms
and Companies)

1. TR T W w & e ¥ amm a1 9w frg G | 1

Give any one point of distinction between dissolution of partnership and
dissolution of .partnership firm.

2. ‘e 1 oFr otd @ @ 2 1

What is meant by ‘Over-Subscription’ ?
8. I F HA & MR W I aw FaRmw-g H SR AR | 1

Distinguish between ‘Subscriptions’ and ‘Specific Donations’ from the
point of view of ‘Nature of Income’.

4. AR TF Fovel AW F YOS WE % 154 A ww Fiwa o & amew B R, @
IET & FF U W A & UReber ¥ F1 3 gt 2 1

If a fixed amount is withdrawn on 15% day of every month of a
calendar year, for what period will the interest on total amount
withdrawn be calculated ?
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5. Th T ?T@?«’R EGY BTCﬁ EER) é; T @ % R s T % T 5 3T |
Fee 1 1
State the reason of contrlbutmg for goodwﬂl by a new partner at the time
of his admission. '

6. T fa. 3 o¥ fa. @?SOOOOOﬁﬂEﬂ?’ﬁHﬂWWI%{qW?ﬂSO%W
. fa. 50 fod U uw fofme w S wieR o T S §9 AR g o
mvﬁqu@mwﬂ?lom%ww ﬁr%z5%%afwwmﬁﬁﬁm
fepan TR o, % g fER T
Ik Tl % AT T fi‘*r aﬁqwoblﬁwq%qch s wRfEEt ST | 3

X Ltd. purchased machmery for ¥ 5,00,000 from Y Ltd. Half of the
amount was paid by accepting a Bill of Exchange drawn by Y Ltd.
payable after three months. The balance was paid by issue of Equity
Shares of ¥ 10 each at a premium of 25%.

Pass necessary Journal Entries in the books of X Ltd. for these
transactions.

. ﬁmwﬁfﬁ 3 3 100 &% F 10,000, 12%3{%?{ 5= T 70 o Forw
Piem w frifig s o, %mw@aﬁwmlgﬂft@mwa@ﬁ

O h{AT 97

13,500 FOTE & Qe S| gT | 3,500 BOWH ¥ T SR # ® W
fear mn am d1|olq-1trfi’quw?>ﬁ°:€[Tf§lﬁﬁatqulﬁﬁeuwwwchaﬂ
femr w1 |
forsa ot for. ﬁgmwf{swm wq'ﬂ%ﬁmdﬂq%% ST Yafeat S 1 3

Vijay Laxmi Ltd. invited applications for issuing 10,000, 12%

Debentures of ¥ 100 each at a premium of T 70 per Debenture. The
full amount was payable on application.

Applications were received for 13,500 Debentures. Applications for
3,500 Debentures were rejected and application money was refunded.
Debentures were allotted to the remaining applications.

Pass necessary Journal Entries in the books of Vijay Laxmi Ltd. for
the above transactions. = ‘
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o Frefefad I ¥ 3132011 H TS ot ¥ fw TR A O H T
af # ey == ¥ 2,85,000.
31.3.2011 ®I 31T == : ¥ 9,000.
 31.3.2011 & M A A : 2 7,000.
142010 F 37T == : ¥ 12,000.
14,2010 F I 3 T : < 8,000

Calculate the amount of subscriptions for the year ended 31.3.2011
from the following information : 0 :

Subscriptions received during the year : % 2,85,000.
 Subscriptions outstanding as on 31.3.2011 : X 9,000.

Subscriptions received in advance as on 31.3.2011 : T 7,000.
Subscriptions outstanding as on 1.4.2010 : X 12,000.

~ Subscriptions received in advance as on 1.4.2010 : T 8,000.

s 1. 3 21,00,000 % 199 T F e &1 fAofE fo | ESE| %,60,000

%qué'wﬁi%wﬁmﬁa%mmlmmm
¥ g % 100 mtﬁﬂ'ma,ooo%a@m‘imiﬁmwﬁsm'wxm
%W@mmmm'mwﬁ@mamw%t
W%Qﬁmﬁmmﬁwfﬁmﬁmﬁww‘
Ajanta Ltd. decided to redeem % 1,00,000, 12% Debentures. It
purchased < 60,000 Debentures from the open market at ¥ 95 per
Debenture. The face value of each Debenture was ¥ 100. The balance
of T 40,000 Debentures were redeemed out of profits. The company
has already made a provision for Debenture Redemption Reserve in

its books.
Pass necessary Journal Entries in the books of the company for the

redemption of Debentures.
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10. T U7 TV U B A GPER A S 5:3 % argua ¥ @ sfed 9 1 1.4.2010
H ST Tl §of frer @R o ;RS T 80,000 TET WY 2 1,00,000. IRMH IS
T 12% W a8 S e Y a0 T W 15% W g8 F QT T AW A
fofer fFor 1 31.3.2011 1 g T 9§ & fU I ol wwEee ¥ @ W
AN T 14,040 A | T4 F T W M W F I FAWE T 6,000 T4
10,000 & | T UMY B WY TG g G AU WY F AN-g0 fafraee
@ IR SiE | wE H 'ifF e # wen B ol O W s fean s | 4

Suresh and Ramesh were partners in a firm sharing profits in the
ratio of 5 : 3. Their fixed capitals on 1.4.2010 were : Suresh ¥ 80,000
and Ramesh ¥ 1,00,000. They agreed to allow interest on capital
@ 12% per annum and to charge on drawings @ 15% per annum. The
firm earned a profit, before all above adjustments, of ¥ 14,040 for the
year ended 31.3.2011. The drawings of Suresh and Ramesh during
the year were ¥ 6,000 and ¥ 10,000 respectively. Showing your
calculations clearly, prepare Profit and Loss Appropriation Account of

~ Suresh and Ramesh. The interest on capital will be allowed even if
the firm incurs a loss.

11, T9, o0 3 9 WEieRk § ST onft w3 :2: 1% IqUa H fawi #d
¥ | 7w o w % ged T 1,80,000 fEmT g 2 | GRAUT SR TEU S
3, 9 IEH IEHY TFU HI UIF WG F qedihd < 2,52,000 W fRAr T4
3w oW wwa Ay F oo W 21 % o H fawi e w1 fofE wd
¥ | BT % ST MW A F ARG T8 I9 W T 1,20,000 g | T
F SEET T O ¥ fae ¥ fau sTavas UsEmEn wfEfEl SiSw | ST
UM ® WE ®9 ¥ MY | 4

Ram, Laxman and Bharat are partners sharing profits in the
~ratio of 3 : 2 : 1. Goodwill is appearing in the books at a value of
T 1,80,000. Laxman retires and at the time of his retirement,
goodwill is valued at ¥ 2,52,000. Ram and Bharat decided to share
future profits in the ratio of 2 : 1. The profits for the first year after
Laxman’s retirement amount to ¥ 1,20,000. Give the mnecessary
Journal .Entries to record goodwill and to distribute the profits. Show

your calculations clearly.
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12, Frefofad oA & fou e, fA 9 T § aneves AsemEr s S

@)

Gi)

?1003@3%5%57,000,12%%@@@%3%?100@%%%
Sio § ufafSe o fem T | AT S w0 FriE 5% & 98 WA
T '

% 100 9% % 330, 9% TOTE F WA T 50 TAF F T 12% FH
¥ uhefia 5% f5or T | AU O S 10% Afgemy W fifE fear
T |

‘Pass necessary Journal Entries for the following transactions in the
" books of K.L. Ltd :

@

(ii)

Redeemed 57,000, 12% Debentures of ¥ 100 each by converting
the same into Equity Shares of ¥ 100 each. The Equity Shares
were issued at a discount of 5%.

Converted 330, 9% Debentures of I 100 each into New 12%
Debentures of T 50 each. The New Debentures were issued at a
premium of 10%.

13, TY. 9 0. TH ©H & R 9 a9 1 4%%&@1&1‘@1@%%13132011
ﬁwﬁwfﬁm@wnﬁmﬁﬁ@ﬁwﬁwﬁaﬁrwmmm

67/2/3

31.3.2011 = ©wH. qar @, @ fafa faawm

o | fer
gard z gufeEr 3z
EI | oY wd e 4,00,000

g, :  ¥1,00,000 LRI 1,50,000
.. %4,00,000| 500,000 | BT 2,00,000
fafra sar-=eE Y 50,000 TR ' 2,00,000
i R 3,00,000 | 1% | 50,000
ql. & = 1,50,000
10,00,000 | 10,00,000
6




Tl e e AR e aER e
@) gt A we W wE g feme Wi 3 2 6,00,000 § TR A R |

(i)  fafEed &= @ T 2 1,60,000 F T6E THH W EHEL FT AT

(iii) TR & 3T TS & i e F aeiad qur SR # @ for

BH & WO & AU eTevas Aserden gafvEt St 6

N

S and P were partners in a firm sharing profits in the ratio of 1 : 4.
On 31.3.2011 the firm was dissolved. On the date of dissolution the
Balance Sheet of the firm was as follows

Balance Sheet of P and Q as on 31.3.2011

Amount Amount
Liabilities 3 Assets T
Capitals : Land and Building| 4,00,000
S: T 1,00,000 Machinery 1,50,000
P: % 400,000 5,00,000 | Investments 2,00,000
Investment Fluctuation Fund 50,000 | Debtors 2,00,000
Sundry Creditors 3,00,000 | Cash 50,000
P’s Loan 1,50,000
10,00,000 10,00,000

The Assets and Liabilities were settled as follows :

(1) Land and Building was taken over by a Land development
authority for cash ¥ 6,00,000.

(i)  Investments were taken over by ‘P’ for cash payment of ¥ 1,60,000.

(iii) ~ Creditors accepted Machinery and Debtors in full settlement of
their claim.

Pass necessary Journal Entries for dissolution of the firm.
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14, 31.3.2011 51 T §C T Fo F FAecET N T G @6 ¥ 31.3.2011

S T §C a¥ F U T I 7AWl AR HNT 6
31.3.2011 &' TANA L I8 & Wi T WEAH @i
aH STHT
. Ul i
Bl 4 RRGIES 4
TN I Y 8,700 | 3T 12,000
il \ 21,400 | U 4,800
S qeF 4900 | forseht 3,400
TH (22,100 T & Q) 5,100 | ffET 9o Lol (1/3 ¥90) 1,200
et 1 R 2,400 | TTERR = 10,200
ECHIBCINEER 6,900 | T€1% | 5.000
(7% 43 < 6,000)
TEEH &1 10,000 | 6% w51 (31.1.2011 ) 10,000
I M A T 12,100
58,700 58,700
From the following Receipts and Payments Account of Raja Club for the
year ended 31.3.2011, prepare an Income and Expenditure Account for the
year ended 31.3.2011 : 4
Receipyts and Payments Account for the year ended 31.3.2011
Dr. Cr.
Amount Amount
Receipts g Payments g
To Balance b/d 8,700 | By Salaries 12,000
To Subscriptions 21,400 | By Rent 4,800
To Entrance Fees 4,200 | By Electricity 13,400
To Donations 5,100 | By Printing and Stationery 1,200
(% 2,100 for Building) (1/3" consumed)
To Hall Rent 2,400 | By Prize Expenses 10,200
To Sale of Investments 6,900 | By Books 5,000
(Book value ¥ 6,000) ,
To Prize Fund 10,000 | By 6% Fixed Deposits
(On 31.1.2011) 10,000
By Balance c/d 12,100
58,700 58,700
67/2/3 8




15. TFE. 91 9%, @mﬁ%v@méwz 1%313%&679:&:2%%:
31Iﬂ€f 2011 &t 37 Fefq foeor 1 YR o1 -

. 3132011#@ a9 =18, &1 fefa faaw

A T | umfgwr 4
|z T % fAw e 250 | Ie 18,250
r%rf%ra éqm | 59,000 R | 15,000
treﬁ ECI AR 1 i | 32,000
Q?R:r. . Z27,000 9 T geq 30,000
',éfr§. :  ¥18,000 45,000 | TTI-BI e 9,000
| 1,04,250 1,04,250

1 s 2011 F Pt v W S @ WERR S O

(F) T -41— W%m?ls,oooﬁmam@ﬁ%féq?fs,ooom Ui

T, STHEHT 39T 97T T, 99 AR feE

(@) tﬁﬁf%m‘ﬁﬁ%@‘ﬂéﬁwwu% sH%f?{E?IE)OOEETWW
CFE R

@ Ww%?woo%@ﬁa?ﬂé@qﬁmw 3ok faw and
| T FAT R |

(=) mm%mm%s%%mmmmél
(®) fafter el § R % 1,200 F T&H TE H PO G ST QW T
Toe ufafEd & B |

SE GAESH & e, Y. # §S % MR W U, 9 9. #@ 6
AR il SR UFs AR YA AFS WO F BT

| gead E, el F St @ aw W v e fef e dan s

YT
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_ U, 99l U @Wﬁﬁ;q@aﬂa‘fﬁars 3: Z%Wﬁmaﬁér
20%1&2011@@'«{3411 mégm@wnwﬁ@aﬁmﬁmﬁaﬁm
et TR W o

ot i T | wEREr < |
e R 1000
AW T 12,000 W%R | | 6,000} ”
w.: 216000 | S 9,000
i : 210,000 | 38000 |¥ | 15000
XA ET 7,000 | U%S | 3,000
e e 90,000 | TT-8T @@ | 10,000
| ¥ r . | 19000] -
84,000 | 84,000

'mm%m H@maﬁwmmaﬂrﬁmﬁﬁwﬁﬁqﬁ%m

THAX BT

(i) zsﬁ@r%remﬁq

(ii) m%mwm%wﬁWﬁmm%W@ﬁ
o Sy S FREER ©
(%) #IAY ® T 45,000 aarts:?fata%% 70001::3:1—@@6@@[

ST
(€c)) Wa@ﬁ%fm 10% =1 STEER BT @ L

(iii) Wﬁiﬂﬁﬁ?ﬂww«wwmﬁ%%%ﬂ@%ﬁﬁﬁﬂ

| wﬁwww&ﬁm%y' |

‘ mw@aﬁ%@&ﬁm%wﬁwﬁmma&rwa&r@'
mmwwwmﬁm@maﬁmwmﬁm
ﬁwﬁwwﬁmﬁﬁmélﬁ@ﬁﬁmmwaﬁg@@%
o/ @l § wEaRe wfer s . 8
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X and Y were partners sharing profits in the ratio of 2 : 1. Their
Balance Sheet as on 31%° March 2011 was as follows :

Balance Sheet of X and Y as on 31.3.2011

Amount o Amount
Liabilities ¢ Assets , 3
Provision for bad debts 250 | Cash | 18,250
Sundry Creditors 59,000 | Debtors 15,000
Capital Accounts : Stock , 32,000
< 27,000 | Land and Building 30,000 :
% 18,000 45,000 | Profit and Loss Account | 9,000
1,04,250 1,04,250

Z was admitted to the partnership with effect from 15 April 2011 on
the following terms :

(a)

(b)

(c)

(d)

(e)

He will bring ¥ 15,000 as his capital for one-fourth share and
pay X 6,000 for goodwill, half of which was to be withdrawn by X
and Y.

There is likely to be a claim against the firm for damages, a
provision of ¥ 1,500 was to be made for the same.

A bill for ¥ 1,300 for electric charges has been omitted, now it is
to be provided for.

A provision of 5% on Debtors was to be created for doubtful
debts.

Included in Sundry Creditors was an item of = 1,200 which was
not to be paid and therefore had to be written back.

After making the above adjustments, the capitals accounts of X and Y
were to be adjusted on the basis of Z’s capital. Actual cash was to be
brought in or to be paid off as the case may be. :

Prepare Revaluation Account, Capital Accounts of the partners and
the Balance Sheet of the new firm.

67/2/3
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R, M and L were partners in a firm sharing profits in the ratio of
5 - 3 : 2 Partner R died on 20" February 2011. The Balance Sheet
of the firm on that date was as follows :

- Amount |- Amount

Liabilities T Assets 4
Capitals : Machinery 41,000
R: T 12,000 | Furniture 6,000
M : % 16000 | Stock 9,000
L: ¥ 10,000 38,000 | Debtors 15,000
Loan from R 7,000 | Cash , 3,000
General Reserve 20,000 | Profit and Loss Account 10,000

Creditors 19,000

84,000 | 84,000

According to the Partneréhip Deed, on the death of a partner, the
executor of the deceased partner will be entitled to :

(1) Balance in Capital Account;

(i) His share in profit/loss on revaluation of assets and reassessment

of liabilities which were as follows :

(a)  Machinery is revalued at T 45,000 and furniture at T 7,000.
(b) A provision of 10% was to be created for doubtful debts.

(iii)  The net amount payable to R was transferred to his executor loan

account which was to be paid later.

Prepare Revaluation Account, Partners’ Capital Accounts, R’s
Executor’s A/c and the Balance Sheet of L. and M who decided to
continue the business keeping their capital balances in their new
profit sharing ratio. Any surplus or deficit was to be transferred to
current accounts of the partners. :

67/2/3 12




16, Tan fA. 4 T 10 Y% F 30,000 T 3 H T 30 uf 37w & A | i
FW & A0 sTeed i BBU | T w1 e T SER 9 ST o9

afaeT | T 10 9fg 3fw (% 8 Wifigw wfgd)
aEed W T 12 wia 3fw (% 9 Mifrem wied)
TR e T g |Wo— 9

27,0003@%{:1%!2341‘3&3%@tmﬁwﬁqﬁﬁrfﬁammﬁwaﬁ
faarg fm@r & 3,000 33 & Siewt, Swa sEed Uiy q@n yg9 wd eAf<m g
TR S T ‘rr@ e, g e B o7 2,000 37¥ W ¥OW W eAfwm
e H A e fEar | e g fReR & i 1 Wed o forn mn | S
fRe T el § T 4,000 3, fEE freR & wi ofw wiwiw 4, & 17 Wi
sy ¥ qof wem g feif & feam e |

I wFeAl % g e . # (e H oTevgs UsmEn st ﬁﬁfq I

Ll

frEg o T 10% ¥ 98 W friffe =@ & T T 10 59% & 70,000 390
¥ fau smaed smHfEE T | UMW # T A SER ¥ T A

afded W T 4 9fd W
e W T 3 9 39
o TS S IR W — 9

80,000 379 % fAT aM&ed & gC | 5,000 3 F fAC FAEA & w W @

T T A STEEH B SIS SR WS H A F A W | SAEA

W W SR URT & gEESE TEed W oF U H e fern wm 1 S, e
1,500 3% % o oA f A, ¥ oTeeA W @ gH W fRT | e %
O UTER, SUH Ol H OSRd & FRM T | SUh YA VHH T S A=
gfer gift 7 1 I @ eTEfed 700 v W ovew w@ faw e Ut e
g%tm%aisﬁa%%ﬂwmﬁamﬂmlwﬁmwwooaﬂﬁﬁ? 13 g
sto i pf weg g i @ R mr | g i few Teosiell A St &%
ot o7y whfea 9 | |

IR AR % o fFRy . @ ges ¥ saves IS sl s 1 8
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Gupta Ltd. invited applications for issuing 30,000 Equity Shares of X 10
each at a premium of ¥ 30 per share. The amount was payable as
follows : ‘

On Application T 10 per share (including ¥ 8 premium)
On Allotment ¥ 12 per share (including ¥ 9 premium)
On First and Final call — Balance

Applications for 27,000 shares were received. All the calls were made
and were duly received except on 3,000 shares held by Shiva who
failed to pay the Allotment and First and Final call money and on
2,000 shares of Girdhar who did not pay the First and Final call.
Shares of Shiva and Girdhar were forfeited. Out of the forfeited
shares, 4,000 shares were re-issued, including all the shares of
Girdhar at T 17 per share fully paid up.

Pass necessary Journal Entries in the books of Gupta Ltd. for the
above transactions.

OR

Firdos Ltd. invited applications for issuing 70,000 shares of ¥ 10 each
at a discount of 10%. The amount was payable as follows :

On Application X 4 per share
On Allotment T 3 per share
On First and Final call — Balance

Applications for 80,000 shares were received. Applications for 5,000
shares were rejected and the shares were allotted on pro-rata basis to
the remaining applicants. Excess money received with applications
was utilized towards sums due on allotment. Jonney, who had applied
for 1,500 shares, failed to pay the Allotment money. His shares were
forfeited immediately after allotment. Afterwards the First and Final
call was made. First and Final call was not received on 700 shares
held by Rommy. Her shares were also forfeited. 1,500 forfeited
shares were re-issued at ¥ 13 per share fully paid up. The re-issued
shares included all the shares of Jonney.

Pass the necessary Journal Entries in the books of Firdos Ltd. for the
above transactions.

67/2/3 14




17.

18.
19.

20.

21.

 (fofra foraont @ fergerwo)
- PART B ‘
(Financial Statements Analysis)

TTRR & fou faxig faal & fFvamer & ge & Soid HiT |

State the significance of analysis of financial A statements to the
‘creditors’. ‘

g varE foato Eﬂ‘f‘rﬁ? ‘&u‘m%,y Svmg T |

State why a cash flow statement is prepared.

IS G w1 S I B 8 |

What is meant by Cash Equlvalents ?

¥ waﬁiagmﬁ% 1wma§w 15:1%8 | 7% €% 3@

s & S 9l 9] SRE e g 2 60,000 fyw §, @ A
el qor =i Saarell & T HiNe |

Z Ltd. has a current ratio of 3-5 : 1 and quick ratio of 1- 5: 1. If the

“excess of current assets over quick assets as represented by stock is

< 60,000, calculate current assets and current liabilities.

ﬁﬁﬁﬂ@ﬁ T @ frefafed ﬁ EXl a? SUTE W AT HIT
(%)  FO-GEAT U,

@) WWWW

(m ﬁéwmwm! '

e S % 5,50,000; W= WA X 50,000; TN-EI WA IR A4 SR

W%m?woooo 9% FTH T 2,00,000; TR T 1,00,000; qRT T T
% 6,50,000; TR T 1,50,000; $TER 7 1,45,000; IHT T 55,000 T TR
=RT T 50,000. | |
31320113%W@{a@f%mﬁm?mooooowam 50% S F T
Fm"eﬂmn a1

67/2/3 , 15 e ~ P.T.O.




"

From the following information, calculate any #wo of the following
ratios : ' \

(a)  Debt-Equity Ratio;
(b) Working Capital», Turnover Ratio;
(¢)  Return on Investment.

Information : ,

Equity Share Capital ¥ 5,50,000; General Reserve T 50,000; Profit
and Loss Account after Tax and Interest ¥ 1,50,000; 9% Debentures
T 2,00,000; Creditors ¥ 1,00,000; Land and Building T 6,50,000;
Equipments ¥ 1,50,000; Debtors ¥ 1,45,000; Cash ¥ 55,000 and
Preliminary Expenses T 50,000. :

Sales for the year ended 31.3.2011 was I 15,00,000 and Tax paid
50%. ‘

22. ﬁw%@amﬁawﬁ31.3.2011#@@@‘6&%@@3@%@5%
~ 3R & 3 foer dar ST

31.3.2011 & waw gU o % fow www fo. @ om faawm

[EE] Ny
| 3
__3:{_13_:
fasna 30,00,000
9 A 20,000
I A | 30,20,000
¥R TER AT | 2050000
FEICERC T 40,000
ENRE! | 2090,000
2 | ‘ 2,95.000 |
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From the followinig IncomekStatement, prepare a Common Size Income
Statement of Jagat Ltd. for the year ended 31.3.2011 :

Income Statement of Jagat Ltd. for the year ended 31.3.2011

| Particulars Amount
3
Income : ,
- Sales - 30,00,000

 Other Incomes 20,000

Total Income 30,20,000
Expenses : :

- Cost of goods sold 2(),50,000 "
Operating EXpenses 40,000
Total Expenses 20,90,000
Tax | 2,25,000

23. 31.3.2010 T 3132011@ ARTHR. . %ﬁwﬁfﬁgaﬁaﬁrﬁamﬁﬁﬁw
mf%ramémaﬁﬁfq

31.3.2010 wert 31320113ﬁam@1ﬁ f&. %ﬁwﬁrﬁw

i 31.3.2010| 31.3.2011 31.3.2010 | 31.3.2011
gt T z | R z 2
wen sfw 45T | 1,00,000 | 1,50,000 | T 12,500 | 11,250
aW-EF W | 25,000 | 50,000 | T 1,50,000 | 1,50,000
d& T 50,000 | 25,000 | FE | 18,750
YEfed A | 20,000 | 15,000 | SRR 50,000 | 63,750
H A 10,000 17,500 |®® | 2500| 3,750
S 15,000 | 11,250 | s 5,000 | 21,250
2,20,000 | 2,68,750 2,20,000 | 2,68,750
377%7??5 g
aﬁﬁzzoooo%wwmmlwﬁmm%zoooﬁaﬁ@i|
7o W % 3,000 F AR T T | 6
17 P.T.0.
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From the following Balance Sheets of R. S P. Ltd as on 31 3. 2010 and
31 3.2011, prepare a Cash Flow Statement

Balance Sheets of R.S.P. Ltd. as on 31.3.2010 and 31.3.2011

Liabilities

31.3.2010
s

31.3.2011
?: A .

Assets'

31.3.2010
-

31.3.2011
o

Equity Share Capital

Profit and Loss Account

: Bank Loan

Proposed Dividend

Provision for tax -

Creditors

1,00,000
25,000
50,000
20,000
10,000
15,000

1,50,000
50,000
95,000
15,000

17,500

11,250 |

z‘,zo,ooo

2,68,750

Patents

Bulldmg

Investments

Debtors
Stock
Cash

12,500
1,50,000

50,000

2,500 |

5,000

11,250
1,50,000
18,750
63,750
3,750
21,250

2,20,000

2,68,750

Additional Informatzon :

Durmg the year Building costing I 20, 000 was purchased Loss on
Sale of Building was ¥ 2,000. Depreciation charged on Bulldmg was
T 3,000. o ,

HET T
(e Tt
PART C
(Computerised Accounting)

fordl @ H eTEfed ﬁg%‘ﬁﬂﬁ’@‘ﬂﬁ%’ﬁaﬁm&emwrﬁhmm%7
What is represented by ‘fifth’ to ‘seventh’ d1g1t of the code allotted to
an account ? ,

wm:aﬁam M /YT B 7
What is the purpose of ‘normalisation’ ?
FreEld AuiET 7 F WeH T E 2

What are the components of computerised accounting system ?
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20.

21.

22.

23.

Rt Freeliea dEis SUEdat S G fRmdet w1 9T | 3

Explain the security features of a computerised accounting software.

el 3 W 3T EE UL T, W%WW | ST & e
@ off gl ST | 4

Give the name of two commonly available DBMS softwares. Also
explain three advantages of DBMS.

TH - § AET WS T S % T =l 3 =l @ fafe 4

Write the steps of a query to compute transport allowance in
MS-Access.

(%) Fofafes goa ¥ mEm W U F T s ¥ TRE W
THA @ O FNT L T 4,50,000 F A a9 @& 15% & T
T4,50,000 ¥ s & W W25% F W T | (4 Aa4 W2 T W)

(@) THA F 39 o & & A" 9a gC qEemEy e ST s aifvel &
Talfyss e & T & fAw fRr S @, sef e o fer @ awn e
e foRedl # R R | | 6
(a)  From the following information, calculate the formula on Excel '
- for computing the amount of Dearness Allowance. When basic pay
is up to T 4,50,000, @ 15%; for more than ¥ 4,50,000, @ 25%
(Basic pay is projected in C2).

(b)  Name and explain the financial function of Excel which is used to
calculate periodic payment for an annuity where rate of interest
is constant and payment is in equal instalments.
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